B OB m ¥ 3R OF
FE%s mE 0Bz < USSR
B ERE () EREH ILR—5—AaH
6,869.70 m 1& 41 8/8%
BHS X ERER BH 5 RERER
350.96 m 2 [=
1 ZEh—L | mReg% | M3 BA/E|FEH 2 —BEEE &I | EmAE% E
=z K O# & EE = % KO & st
BWIEER it bR BEHER a5E Mt - AME SBAEER TEH R
ARBRE (1) 25.920 25.920 1 a5 90. 220 0. 000 0. 000 90. 220
RRKRE (2) 4.320 4.320 1 EHEREE 90. 220 0. 000 0. 000 90. 220
HR—IL (1) 127.150 127.150 1
e 6. 980 6.980 1 3 Sm= (&) | EmE% B/ %
0.000 = gz K # & 5t
0. 000 whEER - RMER . HEMERR BERK
0. 000 a5 65. 920 0. 000 0. 000 65. 920
0. 000 EHEREE 65. 920 0. 000 0. 000 65. 920
0. 000
0,000 4 BRIE (EED | ERBM B %
0.000 = gz K # & 5t
0.000 LR A B BEH R
INET 0. 000 0. 000 164. 370 164. 370 a5 229.990 19. 440 199. 260 448. 690
EHERET 0. 000 0. 000 164. 370 164. 370 EHEREE 211.990 19. 440 199. 260 430. 690
-1 —WEBE | #mea% | 43 B/E | EH -1 eBE | mRay | 122 B/ &4
= K% & it ER = % B & *ER
mieE - AWER | MEHEER EER HE WikE - AMER | MR EHERK HE
BEZE 90. 220 90. 220 1 SEE 65. 920 65. 920 1
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0.000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0.000
0. 000 0. 000
INET 90. 220 0. 000 0. 000 90. 220 INEE 65. 920 0. 000 0. 000 65. 920
EHERET 90. 220 0. 000 0. 000 90. 220 EHEEET 65. 920 0. 000 0. 000 65. 920




4-1 R | EmEM 23 BE EH#] 5 BT ILA—8—h—)L (i ERAHK EVE:
£ % I S = = KoM & it
BIEE i bR BEE aE B R e R BEK

ERYE (1) 72.900 72.900] 1 it 134, 430 0.000, 22,000  156.430

HERHE (2) 72.900 72.900] 1 BRI 134. 430 0.000  22.000  156.430

BFOovh—F 45. 960 45. 960 1

ZFOVH—F 13.750 13.750 1 51 BT | ARAEM 23 B/EEH
0. 000 = gz KO & AR
0.000 BB e R BHEK AR
0. 000 BT 22.000 22.000 1
0. 000 EIES 10. 320 10. 320 1
0. 000 FEAR—Z 32. 400 32. 400 1
0. 000 R—IL (2) 91.710 91.710 1
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 INEE 134. 430 0. 000 22.000 156. 430
0. 000 ARG 134. 430 0. 000 22.000 156. 430
0. 000
0. 000

INET 205. 510 0. 000 0. 000 205.510
EHERET 205.510 0. 000 0. 000 205.510




42 A= | mRegx | 12 B/% | ®#] 52 1 -5k | mRag | B E | EH
= gz K B & #H ER = =z KO & ER
R it bR BEHER a5E Rt BR BEK am
TE=E 199. 260 199. 260 1 0. 000
R 19. 440 19. 440 1 0. 000
ENRIZE 6. 480 6.480 1 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0.000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 INEE 0. 000 0. 000 0. 000 0. 000
0. 000 R ARG 0. 000 0. 000 0. 000 0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
INET 6. 480 19. 440 199. 260 225.180
EHERET 6. 480 19. 440 199. 260 225.180
4-3 %R | mReg% | 41 BoF | EH 6 ER - EER | ERag | U3 B E | EH
= K B & 3 ER = =z KO & ER
R it bR BHEE a5E Rt BR BEK am
RE=E 18. 000 18. 000 BEXZFrAL 6.970 6.970 1
0. 000 BEBFrAL 13.880 13. 880 1
0. 000 ZEHM ML 4. 780 4. 780 1
0. 000 ZTF AL 7.230 7. 230 1
0. 000 BFraAL 19. 240 19. 240 1
0. 000 Seq4L(1) 2.160 2.160 1
0. 000 Nraq4L(2) 2.160 2. 160 1
0. 000 SKZE (1) 0.970 0.970
0. 000 SKE (2) 1.420 1. 420
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0.000
0. 000 0. 000
0. 000 0.000
0. 000 INEE 54. 490 0. 000 4.320 58.810
0. 000 R ARG 52.100 0. 000 4.320 56. 420
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
INET 18. 000 0. 000 0. 000 18. 000
EHERET 0. 000 0. 000 0. 000 0. 000




4-4 BRI | mRegx | 3 B wH 1 BHE | mRag | U3 B E | EH
= gz K B & AR = =z KO & ER
R it bR BEHER a5E Rt BR BEK am
0. 000 HHE 3.820 3. 820 1
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 INEE 3.820 0. 000 0. 000 3. 820
0. 000 R ARG 3.820 0. 000 0. 000 3. 820
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
INET 0. 000 0. 000 0. 000 0. 000
EHERET 0. 000 0. 000 0. 000 0. 000
45 gERIE | \ w8 8 REER | mRay | U3 B E | EH
= sz K B & ER = =z KO & ER
R it bR BHEE a5E Rt BR BEK am
0. 000 R—IUBEER 29. 950 29. 950 1
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 INEE 29. 950 0. 000 0. 000 29. 950
0. 000 R ARG 29. 950 0. 000 0. 000 29. 950
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
0. 000
INET 0. 000 0. 000 0. 000 0. 000
EHERET 0. 000 0. 000 0. 000 0. 000




9 ZEEY ERAY 243 B/E |EH| 14 Zot) ERAY 12 B/ %8
=z K O# & 3 AR = % } KO & P ER
BHEE a5 IR S R EH a5
R—F (1) 16. 830 16. 830 ik N5 4.100 4.100
R—F (2) 8.530 8.530 0. 000
R—F (3) 1.830 1.830 0. 000
R—F (4) 20.810 20. 810 0. 000
0. 000 0. 000
INET 0. 000 0. 000 48. 000 48. 000 INEE 0. 000 0. 000 4.100 4.100
EHERET 0. 000 0. 000 0. 000 0. 000 EHERET 0. 000 0. 000 0. 000 0. 000
10 xEY | mREy | B & 15 20 Q) | mRay | U3 B/E | EH
= z : K% & 5 = % ) B & B ER
IR BHKE IEER A R BEEER aE
0. 000 azyRLET—Z (1) 2.760 2. 760
0. 000 AZYbhYYI—F (2) 14840 1840
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
Nt 0. 000 0. 000 0. 000 0. 000 INEE 0. 000 0. 000 4. 600 4. 600
ARG 0. 000 0. 000 0. 000 0. 000
1 ERER ERAY B % 16 Z0Hs () ERAY 2 B/E | EH
- K # & 5t - K B & | ER
£ & BHE R £ % WK | WME | BEE B
0. 000 Frybo+r—4 29.970 29.970 1
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
INET 0. 000 0. 000 0. 000 0. 000 INEE 29.970 0. 000 0. 000 29.970
EHERET 29.970 0. 000 0. 000 29.970
12 ErEg | mREy | 43 B/E|EH 11 ZoH@) | mRag | B % |
= K% & HE - = =z B & B ER
B BHKE am IEER R BEEER aE
XEREES 149. 460 149. 460 0. 000
EXtRis 18. 250 18. 250 0. 000
SITERR 59.120 59.120 0. 000
0. 000 0. 000
0. 000 0. 000
Nt 0. 000 0. 000 226. 830 226. 830 INEE 0. 000 0. 000 0. 000 0. 000
EHERET 0. 000 0. 000 0. 000 0. 000 R ARG 0. 000 0. 000 0. 000 0. 000
13 BHERUBREDSE | mREy | B/ & 18 Z0H 5) | mRay | B % |
- KO# & it - B & B ER
2 4 EE R 2 4 W MR EEE HE
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
0. 000 0. 000
INET 0. 000 0. 000 0. 000 0. 000 INEE 0. 000 0. 000 0. 000 0. 000
ARG 0. 000 0. 000 0. 000 0. 000




